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1. f=feRad & & dF-97 9d g9 © ? 1. Which of the following is a search engine ?

(A) A (A) Google
(B) TBRIP (B) Infoseek
(C) TalRC (C) Excite
(D) Sugad FHI (D) Al of the above
2. TEAC B Ud ¢ 2. The Internetisa:
(A) T (A) Network
(B) R HAIeIH (B) Communication Medium
(C) oH-F wichH (C) Transaction Platform
(D) Sugad F4l (D) All of the above
3. U9 . A Ud. faeRyd foar T g 3. HTML is developed by :
(A) feH R o gN (A) Tim Berner Lee
(B) TS "oud gW (B) Ted Nelson
(C) TN da91 gRI (C) Charles Babbage
(D) Suga H A Bl 7Tl (D) None of the above
4, AreeN faeRid foar T o 4. Linux was developed by :
(A) cllgTH CRdlee¥ gI\I (A) Linux Torvalds
(B) drsAaN TfeRR gRI (B) Linux Grolier
(C) <lTs-1ad TNl g (C) Linux Gosling
(D) SUYa H A Bl 7l (D) None of the above
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5. ‘J9 3% A © TP 5. ‘Web of Science’ is a:

(A) T Y [US AIHANDT SIeH (A) Journal search and indexing
database
(B) Id BR AgcIH (B) Search for citation
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ | FIg el (D) None of the above
6. d9 il AIZH AP [l T 2 - 6.  Web of Science is indexed by :
(A) ®IRdT g (A) Clarivate
(B) UeI[dIR ERI (B) Elsevier
(C) Tl (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ | TS el (D) None of the above
7. YOION Fgmiad fhar T g 7. Scopus is indexed by :
(A) UcIldIR gRI (A) Elsevier
(B) ®iRdc gN (B) Clarivate
(C) 3R AR, I g (C) R.R.Bowker
(D) Suga H A Bl el (D) None of the above
8. BIN-HI U AHANIH HaT YST & ? 8. Which one is an indexing service
provider ?
(A) 99 3% aEd (A) Web of Science
(B) ReM (B) SLIM
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above
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10.

11.

99 3% WA & IR IFHAT JIR ¢
(A) TH. W 3, T WL IE. %,
3. U9, Al IS, U9, U9 9. a7,

B) . AL e, & AL e,

(C) T (A) 3R (B)

(D) STda # & Big AL

Tool[RR SwefdaT I
ST ST € |

(A) 99 3 e
(B) THIUN

(C) T grsfaRrT

(D) SWa ¥ ¥ I3 T

99 i1 WY BT YHRS 3T o :
(A) 1997 H
(B) 1996 ¥
(C) 1897 %

(D) 1896 #

ML-201

(5)

10.

11.

Web of Science has four indexing types as :

(A) SCI, SCIE, ESCI, SSCI

(B) SCI, BCI, ESCI, SSCI

(©)

Both (A) and (B)

(D) None of the above

Elsevier indexing is also known as :

Web of Science

(A)
(B) Scopus
(C) Key indexing

None of the above

(D)
Web of Science launched in :
(A) 1997
(B) 1996
(C) 1897

(D) 1896

Set-C



12. 99 3% AT BT Aifeld B 8 ? 12.  Who is the owner of Web of Science ?

(A) T (A) IFLA
(B) HSelgd (B) MEDLINE
(C) TFiRde (C) CLARIVATE
(D) SUYa H H Bl el (D) None of the above
13.  “TFTd WhIeR’ & U : 13.  “‘Google Scholar’ is a ................. .
(A) YT b T Fd ger (A) Paid search engine
(B) TM:ged Uga are d9 |d oM (B) Freely accessible web search
engine
C) g (C) Non-paid
(D) SWE ¥ | TS el (D) None of the above
14, QT WieR’ IR AT 2 14.  ‘Google Scholar’ is created by :
(A) TculdqR gRIT (A) Elsevier
(B) IR gRI (B) Clarivate
(C) Tl Txdid gNI (C) Alex Verstak
(D) Suga H A Bl el (D) None of the above
15. I hieR’ diva fobar a7 o - 15. ‘Google Scholar’ was launched in :
(A) IR 2008 H (A) November 2008
(B) awR 2007 H (B) November 2007
(C) awR 2004 H (C) November 2004
(D) SUYa H A Bl 7l (D) None of the above
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16. Sl 9. U4, T4, fhdd YbR @7 gar 2 ? 16. How many types of DBMS are there ?

(A) 6 (A) 6
B) 5 (B) 5
(C) 4 (C) 4
(D) 3 (D) 3
17. T & U @78 ? 17.  What is SQL ?
(A) TIIS TR ol (A) Structured Query Language
(B) IS TN oATeH (B) Structured Query Line
(C) WP TR AT (C) Staff Query Line
(D) SWE ¥ | TS el (D) None of the above

18. N9 HAGEc WX Tdh YR & 18. A database management software is a

_____________________ s type of ccccocccerrrnn.
(A) Ried dfteRR (A) System software
(B) THGIA AMCdIR (B) Application software
(C) Y AR (C) General software
(D) aHI (A) R (C) (D) Both (A) and (C)

19. ‘T%. T 3’ US &1 T 79 © 7 19. The term ‘FAT’ stands for :
(A) BT 3FADIE ¢l (A) File Allocation Tree
(B) WIgcl el e (B) File Allocation Table
(C) @HI (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above

ML—201 (7) Set-C



20. fr=foifad ¥ P9-91 e ‘STl 3[Se 20. Which one of the following refers to the

‘data about data’ ?

<er g ?

(A) SRRT (A) Directory
(B) &S (B) Sub-data
(C) TAETSH (C) Warehouse
(D) Herse (D) Metadata

21, N Wifedr fodw YR @ g 21. How many types of transmission media

39 are there ?
(A) 2 (A) 2
B) 5 (B) 5
€ 3 (C) 3
(D) 4 (D) 4
22. PR IR, el BIgeR Vdh SRV & : 22. Copper wire, optical fibre is example of :
(A) 3TTTssS Hifsa &1 (A) Unguided media
(B) TS Hifedr & (B) Guided media
(C) HIgHIaT Pl (C) Microwave
(D) SUYa H A Bl 7l (D) None of the above

ML—201 (8) Set-C



23.

24,

25.

DO T
(A) fITeaH R 3R AT Seed

(B) faumaraw S €1 TH. U9,
(C) =M (A) 3R (B)
(D) SWF ¥ 4 BIE T

Fefoied & 9 o Ffe g

el oI weas Hifear g ?

(A) PIUGITA D
(B) CTfR<s IR od

(C) Jiificha BIEaR

(D) SWa ¥ ¥ I3 T

frfored # & @=-a1 giafrm A
el 8 ?

(A) DY Bl

(B) HIeH

(C) Jifficdal BIEaR

(D) SUYa H A Bl Tl

ML-201
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23.

24,

25.

Scopus is :

(A) Largest abstract and citation

database

(B) Largest DBMS

(C) Both (A) and (B)

(D) None of the above

Which of the following transmission
media has a highest transmission speed in

a network ?

(A) Coaxial cable

(B) Twisted pair cable

(C) Optical fiber

(D) None of the above

Which of the following is not a

transmission medium ?

(A) Coaxial cable

(B) Modem

(C) Optical fiber

(D) None of the above
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26. WIS Jiffede RA-d § a)¥ 8l © ¢ 26. In fiber optical signals waves are :

(A) el (A) Light

(B) NI (B) Weighted

(C) AR« (C) Infrared

(D) SWE ¥ | FIg el (D) None of the above

27. @Y T B e H A R B 27. As compared to sound waves the

g gl 2 frequency of radio waves is :
(A) @H (A) Lower

(B) it (B) Higher

(C) ¥ (C) Equal

(D) S # H P T (D) None of the above

28. fy=ifoRad & & @F-91 aFgss Hifear 28. Which of the following is unguided

$9? media ?

(A) fear @@ (A) Radio wave

(B) HTSHIRT (B) Microwave

(C) Tl (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above

ML—201 (10) Set-C



29. dI. U9, U, &I A9 © 29. VHF stands for :

(A) =N TS PRE (A) Very high function
(B) oI TS Wi (B) Very high frequency
(C) o9 BIEC Wil (C) Very height frequency
(D) SWE ¥ | FIg el (D) None of the above
30. PI-A1 Bfdd aMarel 8N S IR b 30. Which cable is used for voice and data
oo TarT B 7 communication ?
(A) BRI Bfd (A) Coaxial cable
(B) W 3ifcadd (B) Fiber optical
© ‘cﬁ?%@’ TR (C) Twisted pair
(D) SWE ¥ | TS el (D) None of the above
31. S°wic H &9 UBR & Bfed I TN 31. Which kind of cable is used for
Fare? internet ?
(A) Jiifche BrEaR (A) Optical fiber
(B) dIUfRTIe ofde (B) Coaxial cable
(C) SREIC Bfdd (C) Ethernet cable
(D) Suga H A Bl 7l (D) None of the above

32. Uh HRIR <cdd WIS oxe dl Al 32. A computer network permits sharing of :
CGIRE

(A) 9l (A) Resources
(B) T & (B) Information
(C) T (A) IR (B) (C) Both (A) and (B)
(D) SUYa H A Pl el (D) None of the above

ML—201 (11) Set-C



33.

34.

35.

ML-201

IS, UE. S T, Srev-icd(d YA 2

(A) A TewR
(B) s, TH. S T4, faw
(C) 93, TH. Sl T, I8cd
(D) SWa &l

foce 1 MESe ok sFESe #ifew W
TGN RTet & S H 99T O 06T ¢
(A) fefdteer Aiggerer gm

(B) TCYE HSYerIT &I

(C) el HIGYIe g

(D) SWad # | BIg T2

RIS HaR fofd W ST FaAIRT I &
fore forr Se1 AR wgf &1 SwINT fa
ST © ?

(A) Rrre

(B) EI% gidd

(€) B gei

(D) ST W

(12)

33.

34.

35.

The ISDN internetworking equipments

are .

(A) Terminal adapters
(B) ISDN bridges

(C) ISDN routers

(D) All of the above

Bits can be send over guided and

unguided media as analog signal by :

(A) Digital modulation

(B) Amplitude modulation

(C) Frequency modulation

(D) None of the above

Which data communication method is

used to transmit the data over a serial

communication link ?

(A) Simplex
(B) Half duplex
(C) Full duplex

(D) All of the above
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36. 9aR Ucarze d fafi= yeR & Rdex 36. In communication satellite multiple

T TR ¥ repeators are known as :
(A) R (A) Detector

(B) HIgYclcH (B) Modulators

(C) W« (C) Stations

(D) FIUITSY (D) Transponders

37. fa=folRad & 9 g sed< 9OR I 37.  Which of the following is considered a

broadband communication channel ?

AT ST § 7
(A) PIUGITA B (A) Coaxial cable
(B) WER 3iificd dad (B) Fiber optic cable
© HI$§5 q9 Afhe (C) Microwave circuits
(D) SUgad JHI (D) All of the above
38. ffoRad # W oW dfed J@m 38 Which of the following models is
ATV (Wﬁ?ﬁ w) I gryg T8 not related with Information Literacy ?
g ?
(A) @9 Hisd (A) PLUS model
(B) T4 6 #isd (B) Big 6 model
(C) UK Aisa (C) Graffiti model
(D) YW 3 Hisc (D) Super 3 model

ML—201 (13) Set-C



39.

40.

41.

ML-201

IR Ble &1 fagd Read omg. <L A
HURY e gRT fdar omm @ ?

(A) TR

(B) I IR, <.

(C) WICRI®R

(D) SWE & | B &

frefoRed & | ®F-91 [dred Tead
g ?

(8) FTC

(b) SeC

) f@e

(d) 3 ¥ T A

E}z\_cf :

(A) (a) 3R (b) I B
(B) (b) 3R (d) W& £ |
(C) (b) 3R (c) I 2|

(D) (a) 3R (c) W& |

frfoRed & ¥ o9-w o fSiea

RSl WAed® B fer  Swan

3-89 fSfvied amgsil & fmior # foban

STl & °

(A  fofers

(B) & wH

(C) T BR faeiw

(D) HATSHI . T TH. /3. T4, 3.
79,

(14)

39.

40.

41.

Conversion of Bar code into electrical
signals ID is done by :

(A) Scanners
(B) CRT
(C) Photosensor

(D) None of the above

Which of the following are library
networks ?

(@ Internet

(b) Delnet

(c) NICNET

(d) OcCLC

Codes :

(A) (a) and (b) are correct.
(B) (b) and (d) are correct.
(C) (b) and (c) are correct.

(D) () and (c) are correct.
Which among the following is a digital

library software used in the creation of an
in-house digital library ?

(A) Libsys
(B) Green stone
(C) Alice for Windows

(D) Micro CDS/ISIS

Set-C



42, M8 TP : 42. Blogisa/an:

(A) JATHaTET T (A) Offline journal
(B) SUCIIC THdl (B) Internet journal
(C) U9 SRR (C) Web directory
(D) SWa &l (D) All of the above

43. A® H Ol JergEl RO Iuerel B 43. The complete bibliographic details in

3. MARC are available in :
EEISE (A) Leader

(B) Foid Bies H (B) Control fields

(C) dIRVTA Wies ¥ (C) Variable fields
(D) SuYa H A Bl Tl (D) None of the above

44, =foRed § 9 o9-91 99 99 44. Which of the following is open source

e & 7 software ?
(A) ™ (A) Dspace
(B) & wH (B) Green stone
(C) dllgTdd (C) Linux
(D) Sugad FI (D) All of the above

ML—201 (15) Set-C



45. ‘dosdc’ TaRerd fehar Sidr & - 45.  ‘Worldcat’ is maintained by :

(A) SAfEE g (A) INFLIBNET
(B) S ¥l Udl. L. gRI (B) OCLC
(C) TUA. 3l ¥l gRI (C) LOC
(D) T Tel T ERT (D) ALA

46. Ffafed § e Scgd Uleldiel T8i 46, In the following is not a network

3. protocol :

(A) Td. <3l (A) HTTP
(B) TH. UH. <l Wl (B) SMTP
(C) <. dnL/emE. W (C) TCP/IP
(D) TS 39.50 (D) Z39.50

47. < fafoge 9@ Uolde Pl 3T 63l 47. The Million Book Project was initiated

T o by :
(A) TUcHe fawafdened R (A) Pittsburg University

(B) I Nl favafdanery g (B) Carnegie Mellon University
(C) TH 3ME. < g TE. T gRI (C) MITUSA

(D) SUYa H A Bl 7l (D) None of the above

ML—201 (16) Set-C



48. ‘@Ier &g Wich™ & dgd o T foaRa 48. KOHA is distributed free under which

RpaT o & 2 platform ?
(A) . 9. U (A) GPL
(B) . . T (B) FPL
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ | FIg el (D) None of the above
49. ‘Prer faefiyd fohar mar 2 - 49. KOHA is developed by :
(A) Bfed R (qo‘ngﬁ‘c%m—v[)’ R SIS (A) Katipo  Communication, New
T Zealand
(B) ®fiel WaR (Wﬁ?ﬁ%ﬁ), R SIS (B) Kapito Communication, New
T Zealand
(C) W HaR (Wﬁzﬁiﬂ—r[), :q\Trﬁﬁ'U@ (C) Kattipo Communication, New
T Zealand
(D) SUYa H H IS Tl (D) None of the above
50. ‘@ler I Ugd fddRid gaTT o 50. KOHA was first developed in :
(A) SHa 2000 H (A) January 2000
(B) TRGNI 2000 H (B) February 2000
(C) A< 2001 H (C) January 2001
(D) WRANT 2001 H (D) February 2001

ML—201 (17) Set-C



51. Ped 2 3R by hedld o 51. The raw facts and figures are called :

(A)  glgw (A) Intelligence
(B) M (B) Knowledge
(C) o (C) Information
(D) sIcT (D) Data
52. ‘famhw @@ § ? 52.  What is ‘BIGFRAME’ ?
(A) TRl HHaD (A) Bibliographic Framework
(B) fam hac (B) Big Fact
(C) Td7 hae wH (C) Big Fact Frame
(D) e H ¥ BIg el (D) None of the above

53, IR BT g9l RRCH SUINT &Rl @ 53.  Binary system of numbers uses only :
A

(A) T F (A)  Two digits

(B) TR 3® (B) Four digits

(C) 3G 3d (C) Eight digits

(D) ©: 3d (D) Six digits

54. ‘HAR’ UG fhe WIWT ¥ 3MAT & ? 54. The term ‘communication’ came from

which language ?

A o (A) Greek

(B) difed (B) Latin

(C) (C) German

(D) T (D) French

ML—201 (18) Set-C



55.

56.

S7.

ML-201

fFfoiad & 9 &9 daiie | Ryfes
99 3TeIRd &l 8 ?

(A) 3R Sl U5,

(B) Jifrarie

(C) TeATSS WifeT

(D) I, 3IR. 3.

Rafer Rreed fbas el 4 efia fdar
ST S & ?

(A) T

(B) oM

(C) U

(D)

CAllBIM <cad e UHR &1 Rafdw
RyeeH 8 ?

(A) Sfde Rafr

(B) Uac Rafem

(C) Huo Rafe

(D) SWad # | BIS T

(19)

55.

56.

57.

On which of the following technologies

semantic web is not based ?

(A) RDF

(B) Ontologies

(C) Cloud Seeding

(D) URI

In how many ways switching system can

be established ?

(A) Two

(B) Three

(C) Five

(D) Seven

Which type of switching system is

telephone network ?

(A) Circuit switching

(B) Packet switching

(C) Message switching

(D) None of the above

Set-C



58. f=folRad ® ¥ PH-9T GOSN ‘TS 58. Which of the following softwares is

R 3 fro 2 useful for word processing ?
(A) S99 (A) Dbase

(B) ferfeas (B) Libsys

(C) TSR (C) Wordstar

(D) . . T, /3. TN, 378, U9, (D) CDS/ISIS

59. fA@-c 3R gerc fbd Ao & weas g ? 50. NICNET and INDONET are the

networks of which category ?

(A) (A) LAN

(B) § (B) MAN

(C) o= (C) WAN

(D) =1 (D) IN

60. 3MTS. . 3iT. 9960 I & 60. 1SO-9960 is related with :

(A) A M R S THIST B B (A) Standard for encoding data on CD-
%I'Q T ROM

(B) IR BERR & foly HFH (B) Standard for computer hardware

(C) T UichaT & foly AHe (C) Standard for information

processing
(D) HcafdT & fory A9® (D) Standard for networking

ML—201 (20) Set-C



61. fr=foRad & ¥ fowd ‘cbw U wamm 61 In which of the following, the term

NI, ‘Truncation’ is used ?
(NBEEI (A) Budgeting

(B) W@ Wi (B) Search formulation

(C) Ay (C) Coordination

(D) aiidpd IRl (D) Classified Bibliography

62. ‘goldgih AR YUTEl’ W@l BreRl 62. Electronic telecommunication  system

= W S joining millions of computers together :
(A 9d (A) E-mail
(B) Wﬁ‘d (B) Internet
(C) I TH. HA (C) US Mail
(D) 3T Ul w9 (D) UPS
63. ‘Gied’ JeRR fddd ERT Th 63. LOCKSS (Software) is an international
SR T R TR, community initiative by :
(A) T IS, <. ARSI (A) MIT Libraries
(B) AW favafqere (B) Stanford University
(C) d éaﬁé CECICBIGE] (C) University of Waikato
(D) <SYHCH favafderned (D) University of Southampton

ML—201 (21) Set-C



64. fa=forRad # 9 fawg @1 ygae ST ¢ 64. ldentify the odd one from the following :

(A) BT (A) KOHA
(B) . <l Udl. Ua (B) VTLS
(C) R ++ (C) SLIM ++
(D) A (D) SOUL

65. fHfIRId § W Ud HAShllfT @l 65 Following is an  example  of

AR microblogging :
(A) TUd (A) WordPress
(B) =T Wi (B) BlogSpot
(C) ©digd NEK| (C) Live Journal
(D) cfacR (D) Twitter
66. fr=ifoRad & § @9 Us oMU @ 66. Which one of the following is not an
dgedr 48 & 7 open source software ?
(A) ™ (A) DSpace
(B) favsiat (B) Windows
(C) 9 wH (C) Green Stone
(D) ClgTad (D) Linux

67. Tiedd Hafod fhg JdT BT U o & 7 67. Feedback mechanism is a part of which

service ?
(A) Rumumm! (A) Reprography
(B) . T WA (B) CAS
(C) 3rdre Wa (C) Translation services
(D) T9. Sl 3[E. (D) SDI

ML—201 (22) Set-C



68. HIH ¥ US GUS IT oIl Pl 4T hed & ? 68. What is the collection of terms or records
in MARC called ?

(A) RreH (A) System
(B) Hcad (B) Network
(C) dewEe (C) Website
(D) Y (D) Database
69. 3R UH. TH. WIS Udh UMY @ 69. RSS feed is a tool of :
(A) e (SR & (A) Graphic design
(B) d9 1.0 @ (B) Web1.0
(C) d9 20 @I (C) Web 2.0
(D) onfheqR & (D) Architecture

70. fr=ifoRea & @ @H-w1 ved ‘Qefie 70. One of the following search engine is

exclusively  meant  for  scientific

I BT U a9y ®U H 0d o & 7

information :
(A) T (A) Google
(B) 3Irg (B) Yahoo
(C) wTERd (C) SCIRUS
(D) 3feeTdwer (D) Altavista
71. Wbl & 3 & 71.  Protocol means :
(A) T fearsed & 91 foidw (A) Linkage between two devices
(B) G FIR & drd Sl B AIRD (B) Interchange of data between two
A computers
(C) T (A) IR (B) (C) Both (A)and (B)
(D) SUYa H A Bl 7l (D) None of the above

ML—201 (23) Set-C



72.

73.

74.

75.

ML-201

1 @ v, faRrd febar T o
(A) TTED §RT

(B) Wl R
(C) =M (A) 3R (B)
(D) STda ¥ & Big T

fFefoRad 4 | $IF-91 Yo el & ?

(A) Ty

(B) TP

©) Rrames

(D) g

‘AT’ U FdYeM fhdd g1 YA

fohar rar o ?

(D) SWad # | BIg T2
BEWCRT UG fbefeh GRT Wral 7T o ?
(A) TS Joud

(B) TR W

(C) I sT3

(D) SWad # | BIS T

(24)

72.

73.

74.

75.

CCF was developed by :
(A) UNESCO

(B) IFLA

(C) Both (A) and (B)
(D) None of the above

Which of the following are not the

documents ?

(A) Manuscript
(B) Book
(C) Inscription

(D) Periodical

The term ‘Cyberspace’ was first used by :

(A) Andrew Pollock
(B) William Gibson
(C) John Postal

(D) None of the above

The term ‘hypertext’ was coined by :

(A) Ted Nelson
(B) Vannevar Bush
(C) John Brown

(D) None of the above
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76. difbd ifRed ANR, OR 3R NOT @I  76. The logical operators AND, OR and NOT

RN T 2 were divised by :
(A) T daoT A (A) Charles Babbage
(B) & BIaRY A (B) Hermen Hollrith
(C) Sifsl el Bl (C) George Boole
(D) IHR g9 Gl (D) Vannever Bush
77, ‘dificdd BIgeR’ Dl YINT BldT 77. “Optical Fibre’ is used in :
(A) TEAR H (A) Telecommunication
(B) TICETS TG H (B) Computerised Cataloguing
(C) diferfed gy § (C) Automatic Classification
(D) =¥ 3R I e o (D) Reference and information service
78. U®H drge B TP R B 78. Abyte is astring of :
(A) 4 facH (A) 4 bits
(B) 8 facH (B) 8 bits
(C) 2 ficH (C) 2 bits
(D) Suga H A Bl el (D) None of the above
79. ST TS Ugd Udhol ¥ YA BNl 3 : 79. In atext Retrieval Package Access to data
IS :
(A) ]%ERI—ER@ D gN (A) By content
(B) fyaior & grT (B) By structure
(C) WIZd HIYeleM & gRI (C) By file manipulation
(D) R S 99 & g (D) By single team search
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80.

81.

82.

ML-201

o AR’ TR fobar T o

(A) Td. W J&T D ERNT

(B) U®. S, AGRCR & g
(C) Sl §d @ gRI

(D) . Ol 3¢ B gRI

& w1 H uRWifd

AiredaR

o T e & |
(A) ST @ A
B) forRaa wrum &1 e
(C) Yos o1 e

(D) WIgall BT e

U% TRl SCIo¥ &

(A) &R gfafteal &1 w8

(B) HIN Ued INY WU H i@l @l
TRl AUE

(C) <TI dcdl & dlfdd JUE

(D) TRl BT

(26)

80.

81.

82.

‘Boolean Logic’ was devised by :

(A) H.P.Luhn

(B) F.W. Lankaster

(C) George Boole

(D) J.P.Ekert

Software may be defined as .............. :

(A) A setof databases

(B) A set of written programmes

(C) A setof package

(D) A setof files

A bibliographic database is :

(A) A collection of a catalogue entries

(B) Collection of bibliographic records

in a machine readable form

(C) A logical collection of data
elements
(D) A list of books
Set-C



83. SNIGN AMG 3. UH. 3M1-2709 A~ 83. The International Standard 1SO-2709 is

derived from :

RS

(A) e | (A) UNIMARC
B) AT (B) CCF

(C) U U UH. 38 ¥ (C) ANSI

(D) WH-119 (D) MARC-II

84. w99 ywyg # fa=faRad < e B & 84. The machine format consists of the

(i) 32T T AR (i) | following two components :

(i) data elements and (ii) .................. .

(A) (A) Tag
B Rt (B) Record
(C) Wies (C) Field
(D) Rafe SRR (D) Record Directory
85. ‘Uferd ®WR fave TR fobar M B 85. “Alice for windows’ is devised by :
(A) T Tl U ERT (A) ALA
(B) 3TE. Tel. T gNI (B) ILA
(C) SIS g (C) DESIDOC
(D) Sivefeid TRRT Ufedd fol. gRI (D) Softlink Asia Pub. Ltd.
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86. (e faeia foar T

(A) ISl URDel gRI

(B) & TR Td Sf T Rl g

(C) T T Uve & gNI

(D) SWE # W B &
87. ‘Sdfe R’ T

(A) Hersal

(B) Ufhddl S

(C)  BR WHTHT Wy

(D) PR HTCIR

88. T, 3TS. . & q&ATerd wfid @

(A) FTAR H
(B) % faeell
(C) TXMEE ¥

(D) BIABKT H

ML-201
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86.

87.

88.

Unix is developed by :

(A) Blaise Pascal

(B) Ken Thompson and Denis Richie

(C) AT&T

(D) None of the above

‘Dubline core’ is a :

(A) Metadata

(B) Graphical Data

(C) Core Programming Language

(D) Computer Software

The headquarters of NIC is situated at :

(A) Bangalore

(B) New Delhi

(C) Hyderabad

(D) Kolkata
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89. diiftchol BIgeR | Udol I BT © 89. Optical fibres consist of thin standard of :

(A) SREAIAT AT B (A) Iron like Material
(B) TolrETgHl ARl & (B) Glass like Material
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H H Bl el (D) None of the above
90. UMgs {Re H |iHferd @ 90. Password security involves :
(A) Yz (A) Identification
(B) VHIIehROT (B) Authentication
(C) U= (C) Authorisation
(D) Sugad F4I (D) All of the above
91, 3 TW. S Aiedd & o @<d ded 91 The basic reference model of OSI model
SR o T o was issued in :
(A) 1975H (A) 1975
(B) 1985% (B) 1985
(C) 1983 % (C) 1983
(D) 19817%H (D) 1981
92.  JFISRNRMA Scled I Bl AN o : 92.  Unidirectional database is called :
(A) RiFeid BIFGREH (A) Simplex configuration
(B) BH gwid (B) Half Duplex
C) Hel gwiad (C) Full Duplex
(D) SUYa H A Bl 7l (D) None of the above
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93. 3. U9, eﬂ's‘ P Gy Aisd ¢ 93. The reference model of OSI have :

(A) WMd oRR (A) Seven layer
(B) U oRR (B) Five layer
() ® MR (C) Six layer
(D) 33 RN (D) Eight layer

94. CIAMEN g HT T i Pl Sl 94. Transmission lines are also called :
gl
(A) TR, el rdT ST (A) Register, Channel or Trunks
(B) Qﬂ%ﬁ‘d, el 3T G| (B) Circuit, Channel or Trunks
(C) HARNI, Ul ArdT o (C) Memory, Channel or Trunks
(D) SUYd H H I Tl (D) None of the above

95. FHWICY IR IX T ¢ : 95. Computer virus can :
(A) TG Bl QA (A) Replicates itself
(B) TR Bl TG (B) Damage computer
(C) STl &I B-I% (C) Manipulate data
(D) SUgad JHI (D) Al of the above

96. T L AL W By 3t R 96. HTTP stands for :
(A) TBITWR TR CTAHNY JIcididl (A) Hyper Text Transfer Protocol
(B) TITWX RS Wﬁ'ﬂ‘r{ PIEEIR] (B) Hyper Text Transmission Protocol
(C) TIEWR TR <H IcIPid] (C) Hyper Text Term Protocol
(D) SUYa H A Bl 7l (D) None of the above
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97. g<VAC UMWY g U 97. Internet Explorerisa:

(A) TR ATERR (A) Server Software
(B) TZ<T AYCIN (B) Client Software
(C) IJdIEd WA (C) Translator Software
(D) SWE ¥ | FIg el (D) None of the above
08. fa=folRad & W $IF-91 99 FSOR © ? 98.  Which of the following is web browser ?
(A) TIDBY AR (A) Netscape Navigator
(B) T A w4, U ANG (B) NCSA MOSAIC
(C) HISHINITS gexC UFIRIINY (C) Microsoft Internet Explorer
(D) Sugad Fl (D) All of the above
99. Ty, U. IS, TH. I 3 & 99. WAIS stands for :
(A) T3S TRAT STHEIH RiveH (A) Wide Area Information System
(B) T3S TRAT STHIHIA NIl (B) Wide Area Information Sources
(C) drss grev-e TRAT Rived (C) Wide Internet Area System
(D) Suga H A Bl el (D) None of the above
100. I AlFCdIR TR B : 100. Soul Software is based on :
(A) 3INBA 9i R (A) Oracle 9i
(B) TH & Va-HR 7-0 W (B) SQL-Server 7-0
(C) WIgH W (C) FORTRAN
(D) S 9L U7 T8 W (D) DBMS
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wemdt & 89 aRi fadwedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, T7 Tl H 3T MRaR fodm M1, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & 3ramar =9 ®el W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 el @l
AaIgdd U foram S |

e T & SWa Wendt v MRee B
3T OMR Answer Sheet SUTE &XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-gab, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

7 & Rl U9 Sl wurReT § f=Tar g9 @l
T H U BT SN HUAROT & J= 2T |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

&
23
£
o
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|
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